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QUESTION 1

A vSphere Administrator has received complaints that an MSCS cluster is failing over during vMotion
operations.

What action would minimize migrations for only the MSCS VMs?

A. Configure the VM DRS Automation level to override as Partially Automated.

B. Configure the migration threshold to Conservative for the vSphere DRS cluster.

C. Configure the vSphere DRS cluster to be Partially Automated.

D. Change the pathing policy to Round Robin for MSCS RDMS.

Correct Answer: A

QUESTION 2

Which two permissions are required to migrate a virtual machine with Storage vMotion? (Choose two.)
A. Network > Move Network

B. Virtual Machine > Inventory > Move

C. Resource > Migrate powered on virtual machine

D. Datastore > Allocate Space

Correct Answer: CD

You require these permissions to perform Storage vMotion from the Remote Command Line Interface
(RCLI):

Resource:

https://kb.vmware.com/selfservice/microsites/search.do?

language=en_USandcmd=displayKCandexternalld=1011345

QUESTION 3

Which three TCP/IP stacks are built in at the VMkernel level in vSphere 6 x? (Choose three.)
A. Fault Tolerance

B. vMotion

C. Provisioning
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D. Management
E. Default

Correct Answer: BCE

QUESTION 4

An administrator is configuring vCenter HA and considering placing the Passive and Witness nodes in
another datacenter from the Active Node.

Which is the maximum supported latency between the vCenter HA nodes?

A. 5ms

B. 10ms

C. 100ms

D. 30ms

E. 50ms

Correct Answer: B

vCenter HA network latency between Active, Passive, and Witness nodes must be less than 10 ms. Reference:https://d

ocs.vmware.com/en/VMware-
vSphere/6.5/com.vmware.vsphere.avail.doc/GUID8FD87389-8CC9-4298-8B08-A1526FB44524 .html

QUESTION 5

A scripted upgrade of ESXi fails due to an incorrect parameter in the upgrade script. What file must the administrator
modify to correct the problem?

A. boot.cfg

B. vmreconfig.pl
C. ks.cfg

D. hostinfo.pl

Correct Answer: A
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